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rdZ'kfDr ijh{k.k
funsZ'k (1–5) : fn;s x, izR;sd iz'u esa rhu dFku ,oa pkj
fu"d"kZ I, II, III ,oa IV fn;s x, gSA vkidks bu dFkuksa dks lR;
ekuuk gS] Hkys gh oks loZKkr rF;ksa ls fHkUu izrhr gksrs gSA lHkh
fu"d"kks± dks i<+s fiQj r; djsa fd lHkh rhu dFkuksa dks fuEufyf[kr
dkSu ls fu"d"kZ rkfdZd :i ls vuqlj.k djrs gSA
1. dFku %

dksbZ rkuk'kkg rksrk ugha gSA

dksbZ dkSvk esa<+d ugha gSA

lHkh rksrs esa<+d gSA

fu"d"kZ %
I. dqN rkuk'kkg esa<+d ugha gSA

II. dqN esa<+d rkuk'kkg ugha gSA

III. dksbZ rksrk dkSvk ugha gSA

IV. dqN esa<+d rkuk'kkg gSA

(1) dsoy III ,oa I vuqlj.k djrs gSA

(2) dsoy II ,oa IV vuqlj.k djrs gSA

(3) dsoy ;k rks II ;k IV vuqlj.k djrs gSA

(4) dsoy II, III ,oa ;k rks I vFkok IV vuqlj.k djrs gSA

(5) dsoy ;k II ;k IV ,oa III vuqlj.k djrs gSA

2. dFku %
lHkh eqxsZ esa<+d gSA

lHkh dsd T+kx gSA

dqN dsd eqxsZ gSA

fu"d"kZ %

I. dqN T+kx eqxsZ gSA

II. dqN esa<+d T+kx gSA

III. dqN eqxsZ T+kx gSA

IV. dqN esa<+d dsd gSA

(1) dsoy I, II ,oa III vuqlj.k djrs gSA

(2) dsoy II, III ,oa IV vuqlj.k djrs gSA

(3) dsoy I, III ,oa IV vuqlj.k djrs gSA

(4) dsoy I, II ,oa IV vuqlj.k djrs gSA

(5) lHkh vuqlj.k djrs gSA

3. dFku %
dqN di ckYVh gSA

dqN ckYVh dye gSA

dqN dye di gSA

fu"d"kZ %
I. lHkh di dye gSA

II. dqN ckYVh dye ugha gSA

III. lHkh dye ;k rks di ;k ckYVh gSA

IV. dqN dye uk rks di vkSj uk gh ckYVh gSA

(1) dsoy I vuqlj.k djrk gSA

(2) dsoy II vuqlj.k djrk gSA

(3) dsoy ;k rks I ;k III  vuqlj.k djrk gSA

(4) dsoy ;k rks III ;k IV  vuqlj.k djrk gSA

(5) buesa ls dksbZ ugha

4. dFku %
dqN psd MªkÝV gSA

dqN psd udn ugha gSA

lHkh udn iSls gSA

fu"d"kZ %
I. dqN psd iSls ugha gSA

II. dqN MªkÝV iSls gSA

III. dqN MªkÝV iSls ugha gSA

IV. dqN psd iSls gSA

(1) dsoy ;k rks I ;k IV vuqlj.k djrk gSA

(2) dsoy ;k rks II ;k III vuqlj.k djrk gSA

(3) dsoy I rFkk ;k rks II ;k III vuqlj.k djrs gSA

(4) ;k rks I ;k IV rFkk ;k rks II ;k III vuqlj.k djrs gSA

(5) buesa ls dksbZ ugha

5. dFku %
lHkh ghjks thjks gSA

lHkh thjks [kyuk;d gSA

dqN ghjks tksdj gSA

fu"d"kZ %
I. dqN tksdj ghjks gSA

II. dqN thjks tksdj gSA

III. dqN [kyuk;d thjks gSA

IV. lHkh tksdj [kyuk;d gSA

(1) dsoy I ,oa II vuqlj.k djrs gSA

(2) dsoy I, II ,oa III vuqlj.k djrs gSA

(3) dsoy I, II ,oa ;k rks III ;k IV vuqlj.k djrs gSA

(4) lHkh vuqlj.k djrs gSA

(5) buesa ls dksbZ ugha

funsZ'k (6-10) : fuEufyf[kr tkudkjh dks è;ku ls i<+dj fn,
x, iz'uksa ds mÙkj nhft,A
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REASONING

Directions (1-5) : In each question below, there
are three statements followed by four
conclusions answered I, II, III and IV. You have
to take the given statements to be true even if
they seem to be at variance with commonly
known facts and then decided which of the
given conclusions logically follow(s) from the
given statements.

1. Statements :

No dictators are parrots.

No crows are frogs.

All parrots are frogs.

Conclusions :

I. Some dictators are not frogs.

II. Some frogs are not dictators.

III. No parrots are crows.

IV. Some frogs are dictators.

(1) Only III and I follow

(2) Only II and IV follow

(3) Only either II or IV follows

(4) Only II, III and either I or IV follow

(5) Only either II or IV and III follow

2. Statements :

All cocks are frogs.

All cakes are jugs.

Some cakes are cocks.

Conclusions :

I. Some jugs are cocks.

II. Some frogs are jugs.

III. Some cocks are jugs.

IV. Some frogs are cakes.

(1) Only I, II and III follow

(2) Only II, III and IV follow

(3) Only I, III and IV follow

(4) Only I, II and IV follow

(5) All follow

3. Statements :

Some cups are buckets.

Some buckets are pens.

Some pens are cups.

Conclusions :

I. All cups are pens.

II. Some buckets are not pens.

III. All pens are either cups or buckets.

IV. Some pens are neither cups nor
buckets.

(1) Only I follows

(2) Only II follows

(3) Only either I or III follows

(4) Only either III or IV follows

(5) None of these

4. Statements :

Some checks are drafts.

Some checks are not cash.

All cash are money.

Conclusions :

I. Some checks are not money.

II. Some drafts are money.

III. Some drafts are not money.

IV. Some checks are money.

(1) Only either I or IV follows

(2) Only either II or III follows

(3) Only I and either II or III follow

(4) Either I or IV and either II or III follow

(5) None of these

5. Statements :

All heroes are zeroes.

All zeroes are villains.

Some heroes are jokers.

Conclusions :

I. Some jokers are heroes.

II. Some zeroes are jokers.

III. Some villains are zeroes.

IV. All jokers are villains.

(1) Only I and II follow

(2) Only I, II and III follow

(3) Only I, II and either III or IV follow

(4) All follow

(5) None of these

Direction (6-10): Study the following
information carefully and answer the questions
given below:

K % 2 3 8 E 4 I N 3 2 4 @ 8 W * R 1 2 B $ W E ! U 7
^ X $ W & D
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6. mQij fn, x, J`a[kyk esa fdrus O;atu gS ftlds Bhd igys
rFkk ckn esa izrhd gS\

(1) dksbZ ugha (2) ,d

(3) nks (4) rhu

(5) pkj

7. nk,a Nksj ls 8osa rRo ds nk,a vksj pkSFkk rRo dkSu&lk gksxk\
(1) 3 (2) 4

(3) 2 (4) W

(5) @

8. nk,a Nksj ls 8osa rRo rFkk 16osa rRo ds Bhd chp dkSu lh
la[;k gksxh\

(1) dksbZ ugha (2) nks

(3) pkj (4) ik¡p

(5) buesa ls dksbZ ugha

9. ck,a Nksj ls 7osa rRo ds nk,a vksj NBk rRo dkSu&lk gksxk\
(1) 4 (2) @

(3) W (4) 2

(5) buesa ls dksbZ ugha

10. mQij fn, x, Jà[kyk esa fdrus la[;k ,sls gS ftlds Bhd ckn
la[;k rFkk Bhd igys Loj gS\

(1) pkj (2) nks

(3) ,d (4) dksbZ ugha

(5) ik¡p

funsZ'k (11-15) : fuEufyf[kr tkudkjh dks è;ku ls i<+dj
fn, x, iz'uksa ds mÙkj nhft,A

vkB f[kykM+h – P, S, Q, R, U, B, J vkSj C ,d eSnku esa
,d o`Ùk esa leku nwjh ij cSBs gSaA rhu f[kykM+h foijhr fn'kk dh vksj
eq[k fd, gq, gSa vkSj vU; ik¡p o`Ùk ds dsUnz dh vksj eq[k djds cSBs
gSaA S, B ds nk,a vksj rhljs LFkku ij cSBrk gSA R, C ds ikl ugha
cSBk gSA Q, R ds ck,a vksj rhljs LFkku ij cSBk gS] ,oa R, P ds nk,a
vksj nwljs LFkku ij gS vkSj bu rhu f[kykfM+;ksa esa ls ,d dk eq[k o`Ùk
ds dsUnz dh foijhr fn'kk esa gSA C vkSj U ds chp nks f[kykM+h cSBs
gS rFkk B vkSj U ds chp Hkh nks f[kykM+h cSBs gaSA Q, J ds ck,a ls nwljs
LFkku ij cSBk gS ,oa J o`Ùk ds dsUnz dh vksj eq[k djds cSBk gSA S
dk eq[k dsUnz dh vksj gSA U uk rks B ,oa uk gh Q ds lEeq[k cSBk
gSA

11. J ds nk,a vksj nwljs LFkku ij dkSu gS \
(1) B (2) C

(3) S ;k B (4) R ;k S

(5) C ;k R

12. C vkSj R ds chp fdrus O;fDr cSBs gSa \

(1) rhu (2) dksbZ ugha

(3) ,d (4) nks

(5) buesa ls dksbZ ugha

13. fuEUk esa ls fdl f[kykM+h dk eq[k dsUnz dh foijhr fn'kk esa gS\
(1) B (2) R

(3) U (4) Q

(5) buesa ls dksbZ ugha

14. U ds ck,a vksj rhljs LFkku ij dkSu cSBk gS \
(1) R (2) B

(3) S (4) C

(5) buesa ls dksbZ ugha

15. ;fn lHkh O;fDr viuh fLFkfr dks vius foijhr cSBs O;fDr
ds lkFk cny ysrs gS] rks vc R ds ck,a vksj nwljs LFkku ij
dkSu cSBk gS \
(1) U (2) P

(3) B (4) C

(5) buesa ls dksbZ ugha

funsZ'k (16-20): fuEufyf[kr iz'uksa esa ©, $, #, ? rFkk %
fpUgksa dk iz;ksx fuEufyf[kr vFkksZa ls fd;k x;k gSA

'A $ B' dk vFkZ ^A, B ls uk rks cM+k uk gh NksVk gSA*

'A ? B' dk vFkZ ^A, B ls uk rks cM+k uk gh cjkcj gSA*

'A % B' dk vFkZ ^A, B ls uk rks NksVk uk gh cjkcj gSA*

'A © B' dk vFkZ ^A, B ls NksVk ugh gSA*

'A # B' dk vFkZ  ^A, B ls cM+k ugh gSA*

vc] fuEufyf[kr izR;sd iz'uksa esa fn, x, dFkuksa dks lR; ekuuk gS]
uhps fn, x, fu"d"kZ I, II rFkk III esa dkSu&lk fuf'pr :i ls lR;
gS@gSaA rFkk blosQ vuqlkj viuk mÙkj nsaA

16. dFku %
A © P, P % E, E ? F, F # S

fu"d"kZ :
I. S % E II. A % E

III. F % P

(1) osQoy fu"d"kZ I rFkk III vuqlj.k djrs gSaA

(2) osQoy fu"d"kZ II vuqlj.k djrk gSA

(3) osQoy fu"d"kZ I rFkk II vuqlj.k djrs gSaA

(4) osQoy fu"d"kZ II rFkk III vuqlj.k djrs gSaA

(5) buesa ls dksbZ ugha

17. dFku %
P ? W, W $ Q, Q % S, S © A

fu"d"kZ :
I. A ? Q II. Q % P

III. W % A

(1) osQoy fu"d"kZ I vuqlj.k djrk gSA

(2) osQoy fu"d"kZ I rFkk III vuqlj.k djrs gSaA

(3) osQoy fu"d"kZ I rFkk II vuqlj.k djrs gSaA

(4) lHkh fu"d"kZ I, II rFkk III vuqlj.k djrs gSaA

(5) buesa ls dksbZ ugha
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6. How many consonants in the above series
are immediately preceded and immediately
followed by symbols?

(1) None (2) One

(3) Two (4) Three

(5) Four

7. Which element is 4th to the right of the
element which is 8th from the left end?

(1) 3 (2) 4

(3) 2 (4) W

(5) @

8. What is the exact number of vowels
between the 8th element from the left end
and 16th from the left end?

(1) None (2) Two

(3) Four (4) Five

(5) None of these

9. Which element is 6th to the right of the
element which is 7th from the left end?

(1) 4 (2) @

(3) W (4) 2

(5) None of these

10. How many numbers are there in the above
series which are immediately followed by
numbers and immediately preceded by
vowels?

(1) Four (2) Two

(3) One (4) None

(5) Five

Directions (11-15) : Study the following
information carefully to answer the given

questions.

Eight sportsmen – P, S, Q, R, U, B, J and C are
sitting in a field in a circle at equal distance.
Three sportsmen on the circle are facing opposite
sides and other five are sitting facing the centre
of the circle. S is sitting to the third right of B. R
is not near to C. Q is sitting to the third left of R,
who is second right of P, and among these three
players one is facing opposite to the centre of the
circle. Two sportsmen are sitting between C and
U and two are sitting between B and U. Q is sitting
to the second left of J, who is facing the centre of
the circle. S is facing the centre of the circle. U
is not opposite to B and Q.

11. Who is second right to J ?

(1) B (2) C
(3) S or B (4) R or S
(5) C or R

12. How many people are sitting between C and
R ?
(1) Three (2) None
(3) One (4) Two
(5) None of these

13. Which of the following sports persons is
facing to the opposite of the centre ?

(1) B (2) R

(3) U (4) Q

(5) None of these

14. Who is sitting third to the left of U ?

(1) R (2) B

(3) S (4) C

(5) None of these

15. If all the people change their positions with
the person sitting opposite to them then who
is now sitting second to the left of R ?

(1) U (2) P

(3) B (4) C

(5) None of these

Direction (16-20): In the following questions,
the symbols ©, $, #, ? and % are used with the
following meaning as illustrated below:

'A $ B' means 'A is neither greater than nor
smaller than B'.

'A ? B' means 'A is neither greater than nor
equal to B'.

'A % B' means 'A is neither smaller than nor
equal to B'.

'A © B' means 'A is not smaller than B'.

'A # B' means 'A is not greater than B'.

Now in each of the following question assuming
the given statements to be true, find which of
the conclusions I, II, and III given below them
is/are definitely true and give your answer
accordingly.

16. Statements :

A © P, P % E, E ? F, F # S

Conclusions :

I. S % E II. A % E

III. F % P

(1) Only I and III follow

(2) Only II follows

(3) Only I and II follow

(4) Only II and III follow

(5) None of these

17. Statements :

P ? W, W $ Q, Q % S, S © A

Conclusions :

I. A ? Q II. Q % P

III. W % A

(1) Only I follows

(2) Only I and III follow

(3) Only I and II follow

(4) All I, II and III follow

(5) None of these
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18. dFku %
M # Q, Q $ K, A % K, V © A

fu"d"kZ :
I. K © M II. A % Q

III. A % M

(1) lHkh fu"d"kZ I, II rFkk III vuqlj.k djrs gSaA

(2) osQoy fu"d"kZ I rFkk II vuqlj.k djrs gSaA

(3) osQoy fu"d"kZ I rFkk III vuqlj.k djrs gSaA

(4) osQoy fu"d"kZ II rFkk III vuqlj.k djrs gSaA

(5) dksbZ vuqlj.k ugha djrk gSA

19. dFku %
E $ C, C ? A, A © R, R # S

fu"d"kZ :
I. S % A II. R ? C

III. R # E

(1) dksbZ vuqlj.k ugha djrk gSA

(2) osQoy fu"d"kZ I rFkk II vuqlj.k djrs gSaA

(3) osQoy fu"d"kZ II vuqlj.k djrk gSA

(4) osQoy fu"d"kZ III vuqlj.k djrk gSSA

(5) osQoy fu"d"kZ I, II rFkk III vuqlj.k djrs gSaA

20. dFku %
L % N, N # T, T $ D, D ? A

fu"d"kZ :
I. L % A II. L # A

III. A % N

(1) osQoy ;k rks fu"d"kZ I ;k II rFkk III vuqlj.k djrs gSaA
(2) osQoy fu"d"kZ I vuqlj.k djrk gSA
(3) osQoy ;k rks fu"d"kZ I ;k II vuqlj.k djrk gSA
(4) osQoy fu"d"kZ III vuqlj.k djrk gSA
(5) buesa ls dksbZ ugha

funsZ'k (21-25) : fuEufyf[kr tkudkjh dks è;ku ls i<+dj
fn, x, iz'uksa ds mÙkj nhft,A

lkr fe=k A, B, C, D, E, F vkSj  G leku LkIrkg] lkseokj ls
jfookj] ds fofHkUUk fnol ij ,d daiuh esa fu;qDr gq, (T+k:jh ugha
dh blh Øe esa)A izR;sd O;fDr vyx&vyx [ksy Hkh [ksyrs gSa ;Fkk&
fØdsV] gkWdh] iqQVckWy] LDok'k okyhckWy] Vsful vkSj [kks&[kks (T+k:jh
ugha dh blh Øe esa)A  og tks gkWdh [ksyrk gS ds ckn dsoy nks
O;fDr fu;qDr gq, FksaA E dh fu;qfDr tks gkWdh [ksyrk gS] ds ckn
fdlh ,d fnu gqbZ FkhA E vkSj G ds chp dsoy rhu fu;qDr O;fDr
gq,A G vkSj tks O;fDr okyhckWy [ksyrk gS ds chp dsoy ,d O;fDr
fu;qDr gqvk FkkA A dh fu;qfDr tks okyhckWy [ksyrk gS ds Bhd ckn
gqbZ FkhA og tks [kks&[kks [ksyrk gS ds ckn dsoy rhu O;fDr fu;qDr
gq, FksaA C dh fu;qfDr F ds Bhd ckn gqbZ Fkh] ysfdu 'kqØokj dks ughaA
og tks fØdsV [ksyrk gS rFkk F ds chp dsoy ,d O;fDr fu;qDr
gqvk FkkA B dh fu;qfDr tks fØdsV [ksyrk gS ds Bhd ckn gqbZ FkhA
D vkSj og tks Vsful [ksyrk gS ds chp nks ls vf/d O;fDr fu;qDr
gq, FksaA A LDok'k ugha [ksyrk gSA E Vsful ugha [ksyrk gSA

21. nh xbZ O;oLFkk ds vuqlkj fuEu esa ls dkSu lk la;ksx fuf'pr
gh lR; gksxk \

(1) C-LDok'k

(2) ògLifrokj-C

(3) 'kfuokj-fØdsVj

(4) lkseokj-okyhckWy

(5) F-[kks-[kks

22. G ds igys fdrus O;fDr;ksa dh fu;qfDr gqbZ Fkh \

(1) nks (2) ,d

(3) rhu (4) pkj

(5) dksbZ ugha D;ksafd G lkseokj dks fu;qDr gqvk FkkA

23. fuEu esa ls fdldh fu;qfDr cq/okj dks gqbZ Fkh \

(1) og f[kykM+h tks [kks&[kks [ksyrk gSA
(2) A

(3) B

(4) og f[kykM+h tks fØdsV [ksyrk gSA
(5) F

24. nh xbZ O;oLFkk ds vuqlkj fuEu esa ls dkSu lk dFku lR; gS\

(1) F rFkk tks LDok'k [ksyrk gS ds chp dsoy ,d O;fDr
fu;qDr gqvk FkkA

(2) C ds igys dsoy rhu O;fDr fu;qDr gq, FksA

(3) A Vsful [ksyrk gSA

(4) B 'kfuokj dks fu;qDr gqvk FkkA

(5) fn, x, fodYiksa esa ls dksbZ Hkh LkR; ugha gSA

25. og O;fDr tks Vsful [ksyrk gS fuEu esa ls fdl fnu fu;qDr
gqvk Fkk \

(1) ògLifrokj (2) eaxyokj

(3) jfookj (4) lkseokj

(5) 'kfuokj

funsZ'k (26-27) : fuEufyf[kr tkudkjh dks è;ku ls i<+sa rFkk
fn, x, iz'uksa ds mÙkj nhft,A

fcUnq F, E ds nf{k.k esa 10 ehVj dh nwjh ij gSA fcUnq G, F

ds iwoZ esa 3 ehVj dh nwjh ij gSA fcUnq H, G ds nf{k.k esa 5 ehVj
dh nwjh ij gSA fcUnq I, H ds if'pe esa 6 ehVj dh nwjh ij gSA fcUnq
J, I ds mÙkj esa 10 ehVj dh nwjh ij gSA fcUnq K, J ds iwoZ esa 6 ehVj
dh nwjh ij gSA fcUnq L, K ds mÙkj esa 5 ehVj dh nwjh ij gSA
26. fcUnq J ds lanHkZ esa fuEufyf[kr esa ls dkSu fcUnq G dh fn'kk

dks fu:fir djrk gS \
(1) nf{k.k - iwoZ (2) mÙkj - if'pe
(3) nf{k.k - if'pe (4) nf{k.k
(5) mÙkj - iwoZ

27. fcUnq E, L ls fdl fn'kk esa vkSj fdruh nwjh ij gS \
(1) 5 ehVj] nf{k.k (2) 3 ehVj] iwoZ
(3) 7 ehVj] mÙkj (4) 3 ehVj] if'pe
(5) 5 ehVj] mÙkj
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18. Statements :

M # Q, Q $ K, A % K, V © A

Conclusions :

I. K © M II. A % Q

III. A % M

(1) All I, II and III follow

(2) Only I and II follow

(3) Only I and III follosw

(4) Only II and III follow

(5) None is true

19. Statements :

E $ C, C ? A, A © R, R # S

Conclusions :

I. S % A II. R ? C

III. R # E

(1) None follows (2) Only I and II follow

(3) Only II follows (4) Only III follows

(5) All I, II and III follow

20. Statements :

L % N, N # T, T $ D, D ? A

Conclusions :

I. L % A II. L # A

III. A % N

(1) Only either I or II and III follow

(2) Only I follows

(3) Only either I or II follows

(4) Only III follows

(5) None of these

Directions (21-25) : Read the following
information carefully and answer the
questions.

Seven friends A, B, C, D, E, F and G were
appointed to a company on seven different days
of the same week starting from Monday to
Sunday (but not necessarily in the same order).
Each person also plays a different game namely-
Cricket, Hockey, Football, Squash, Volleyball,
Tennis and Kho-Kho, but not necessarily in the
same order. Only two people were appointed after
the one who plays Hockey. E was appointed on
one of the days after the one who plays Hockey.
Only three people were appointed between E and
G. Only one person was appointed between G and
the one who plays Volleyball. A was appointed
immediately after the one who plays Volleyball.
Only three people were appointed after the one
who plays Kho-Kho. C was appointed immediately
after F, but not on Friday. Only one person was
appointed between F and the one who plays
Cricket. B was appointed immediately after the
one who plays cricket. More than two people were
appointed between D and the one who plays
Tennis. A does not play squash. E does not play
tennis.

21. Which of the following combinations will be
definitely true as per the given
arrangement ?

(1) C-Squash

(2) Thursday-C

(3) Saturday-Cricket

(4) Monday-Volleyball

(5) F-Kho-Kho

22. How many people were appointed before G?

(1) Two (2) One

(3) Three (4) Four

(5) None, as G was appointed on Monday.

23. Who amongst the following was appointed
on Wednesday ?

(1) The one who plays Kho-Kho

(2) A

(3) B

(4) The one who plays Cricket

(5) F

24. Which of the following statements is true
as per the given arrangement ?

(1) Only one person was appointed between
F and the one who plays Squash.

(2) Only three people were appointed before
C.

(3) A plays Tennis.

(4) B was appointed on Saturday.

(5) None of the given options is true

25. The person who plays Tennis was appointed
on which of the following days ?

(1) Thursday (2) Tuesday

(3) Sunday (4) Monday

(5) Saturday

Directions (26-27) : Study the following
information and answer the given question.

Point F is 10 m to the south of E. Point G is
3 m to the east of F. Point H is 5 m to the south of
G. Point I is 6 m to the west of H. Point J is 10 m
to the north of I. Point K is 6 m to the east of J.
Point L is 5 m to the north of K.

26. Which of the following represents the
direction of point G with respect to point J ?

(1) south-east (2) north-west

(3) south-west (4) south

(5) north-east

27. How far and in which direction is point E
from point L ?

(1) 5 metres, south

(2) 3 metres, east

(3) 7 metres, north

(4) 3 metres, west

(5) 5 metres, north
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funsZ'k (28–30) : fuEufyf[kr tkudkjh dks è;ku ls i<+sa rFkk
fn, x, iz'uksa ds mÙkj nhft,A

'kuk] vkjrh dh ek¡ gSA jksgu] vkjrh dk HkkbZ gSA jksgu] ekuo dk
bdykSrk iq=k gSA ekuo] mn; dk iq=k gSA mn;] ekfgjk dk ifr gSA
ekfgjk] euq dh ek¡ gSA

28. ekfgjk] jksgu ls dSls lacaf/r gS \

(1) Ekk¡ (2) vkaV

(3) iksrh (4) nknh

(5) lkl

29. ;fn vkjrh] lksuw ls fookfgr gS] rks lksuw] ekuo ls dSls lacafèkr
gS\

(1) nekn (2) cgw

(3) iq=k (4) Hkrhth

(5) iq=kh

30. 'kuk] euq ls dSls lacaf/r gS \

(1) cgu (2) dtu

(3) lkl (4) Hkrhth

(5) flLVj&bu&ykW

funsZ'k (31–35) : fuEufyf[kr tkudkjh dks è;ku ls i<+sa rFkk
fn, x, iz'uksa ds mÙkj nhft,A

vkB fe=k M, N, F, G, H, I, J ,oa K ,d oxkZdkj est ds
pkjksa vksj bl izdkj cSBs gS fd buesa ls pkj oxkZdkj est ds pkj
fdukjksa ij tcfd pkj izR;sd pkjksa Hkqtkvksa ds eè; esa cSBs gSA og
tks pkj fdukjksa ij cSBk gS] dsUnz dh vksj eq[k fd, gq, gS tcfd
og tks Hkqtkvksa ds eè; cSBk gS] ckgj dh vksj eq[k fd, gq, gSA G,

M ds rhljs nk,a vksj cSBk gSA M dk eq[k dsUnz dh vksj gSA K dk
eq[k dsUnz dh vksj gS ysfdu M ;k G dk fudVre iM+kslh ugha gSA

H, F ds rhljs nk,a vksj cSBk gSA F fdlh Hkh Hkqtkvksa ds eè; ugha
cSBk gSA rFkk F, K dk fudVre iM+kslh ugha gSA M rFkk I ds chp
dsoy ,d O;fDr cSBk gSA N, I dk fudVre iM+kslh ugha gSA

31. fuEu esa ls dkSu I ds ck,a pkSFks vksj cSBk gS \
(1) K (2) F

(3) H (4) N

(5) J

32. N dk LFkku F ds lkis{k esa D;k gS \

(1) Bhd ck,a (2) ck,a ls nwljk

(3) ck,a ls rhljk (4) nk,a ls rhljk

(5) Bhd nk,a

33. fuEu esa ls dkSu fn, x, cSBd O;oLFkk ls vyx gS \
(1) F (2) I

(3) M (4) K

(5) N

34. ;fn lHkh O;fDr;ksa dks ?kM+h dh fn'kk esa o.kkZuqØe cSBus dks
dgk tk,] M ls izkjaHk] rks fdrus O;fDr;ksa dk (M dks
NksM+dj) LFkku mlds izkjafHkd LFkku ij jgsxk \

(1) dksbZ ugha (2) ,d

(3) nks (4) rhu

(5) pkj

35. fuEu esa ls D;k K ds ckjs esa lR; gS \

(1) H, K dk fudVre iM+kslh ugha gSA

(2) K fdlh Hkqtkvksa ds eè; cSBk gSA

(3) F, K ds nwljs ck,a vksj cSBk gSA

(4) M rFkk I, K dk fudVre iM+kslh gSA

(5) dksbZ lR; ugha gSA
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Directions (28-30) : Study the following
information carefully and answer the given
questions.

Shana is the mother of Arti. Rohan is the brother
of Arti. Rohan is the only son of Manav. Manav is
the son of Uday. Uday is the husband of Mahira.
Mahira is the mother of Manu.

28. How is Mahira related to Rohan ?

(1) Mother (2) Aunt

(3) Granddaughter (4) Grandmother

(5) Mother-in-law

29. If Arti is married to Sonu, then how is Sonu
related to Manav ?

(1) Son-in-law (2) Daughter-in-law

(3) Son (4) Niece

(5) Daughter

30. How is Shana related to Manu ?

(1) Sister (2) Cousin

(3) Mother-in-law (4) Niece

(5) Sister-in-law

Directions (31-35) : Study the following
information carefully and answer the given
questions.

Eight friends M, N, F, G, H, I, J and K are
sitting around a square table in such a way that
four of them sit at four corners of the square
while four sit in the middle of each of the four
sides. The one who sit at the four corners face
the centre while those who sit in the middle of
the sides face outside. G sits third to the right of
M. M faces the centre. K faces centre but is not
an immediate neighbour of M or G. H sits third
to the right of F. F does not sit in the middle of
any of the sides and also F is not an immediate

neighbour of K. Only one person sits between M
and I. N is not an immediate neighbour of I.

31. Who amongst the following sits fourth to the
left of I ?

(1) K (2) F

(3) H (4) N

(5) J

32. What is the position of N with respect to F ?

(1) Immediately to the left

(2) Second to the left

(3) Third to the left

(4) Third to the right

(5) Immediately to the right

33. Who of the following is different from the
given sitting arrangement ?

(1) F (2) I

(3) M (4) K

(5) N

34. If all the persons are made to sit in
alphabetical order in clockwise direction,
starting from M, then the positions of how
many (excluding M) will remain unchanged
as compared to their original seating
positions?

(1) None (2) One

(3) Two (4) Three

(5) Four

35. Which of the following is true regarding K ?

(1) H is not an immediate neighbours of K

(2) K sits in the middle of one of the sides

(3) F sits second to left of K

(4) M and I are immediate neighbours of K

(5) None is true
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la[;kRed vfHk;ksX;rk
36. A rFkk B vdsys Øe'k% ,d dk;Z dks Øe'k% 30 fnuksa rFkk 18

fnuksa esa djrs gSA ;fn B vdsyk mlh dke dks djrk izkjaHk djrk
gS rFkk 6 fnuksa ds ckn A, B ds LFkku ij vk tkrk gS] rks fdrus
fnuksa esa dk;Z lekIr gksxk\

(1) 20 fnu (2) 18 fnu

(3) 24 fnu (4) 26 fnu

(5) 32 fnu

37. ,d uko 40 feuV esa 14 fdeh /kjk ds foijhr tkrk gSA ;fn
'kkar ty esa uko dh pky rFkk /kjk dh pky ds chp vuqikr
6 : 1 gS] rks /kjk dh fn'kk esa 2 ?kaVs esa uko ds }kjk r; dh
xbZ nwjh D;k gS\

(1) 45.6 fdeh (2) 43.2 fdeh

(3) 58.8 fdeh (4) 51.8 fdeh

(5) 67.6 fdeh

38. lksukyh viuh ekfld vk; dk 25% ?kj fdjk;s ij [kpZ djrh
gS rFkk 30% diM+s ij [kpZ djrh gSA og 'ks"k vk; dk 40%

viuh ek¡ dks nsrh gSA ;fn mldh 'ks"k ekfld vk; 10800

jQi;s gS] rks mldh ekfld vk; Kkr djsaA

(1) 40000 jQi;s (2) 35000 jQi;s

(3) 39000 jQi;s (4) 45000 jQi;s

(5) 30000 jQi;s

39. A, B rFkk C ,d lk>snkjh esa leku jkf'k fuos'k djrs gSaA 8 ekg
ckn] A viuk iwjk fuos'k fudky ysrk gS] B viuk fuos'k nksxquk
dj nsrk gS rFkk C vius fuos'k dk 50% fudky ysrk gSA ;fn
o"kZ ds var esa dqy ykHk 8500 jQi;s gS] rks C dk ykHk esa
fgLlk Kkr djsaA

(1) 2000 jQi;s (2) 1500 jQi;s

(3) 1000 jQi;s (4) 3000 jQi;s

(5) 2500 jQi;s

40. oxZ dh ifjfefr vk;r dh ifjfefr ls 16 ehVj vf/d gSA ;fn
oxZ dh Hkqtk] vk;r dh pkSM+kbZ ls 8 ehVj vf/d gS rFkk vk;r
dh yackbZ rFkk pkSM+kbZ ds chp vuqikr 3 : 2 gS] rks vk;r dh
yackbZ Kkr djsaA
(1) 15 ehVj (2) 24 ehVj
(3) 20 ehVj (4) 18 ehVj
(5) 16 ehVj

funsZ'k (41-50) : fuEufyf[kr iz'uksa esa iz'ufpÞu (?) ds LFkku
ij D;k vk;sxk\

41.
78

39
 × 2 + 41 – 15 = ?

(1) 28 (2) 30
(3) 32 (4) 31
(5) 29

42. 15 ÷ 3 + 32 = 7 ×?

(1) 5 (2) 4

(3) 3 (4) 1

(5) 2

43. 41 + 520 – ? = 61

(1) 541 (2) 521

(3) 520 (4) 500

(5) 489

44. 14 × 3 – 60 + ? = 32

(1) 50 (2) 14

(3) 72 (4) 54

(5) 10

45. 13 + 51 ÷ 17 = 42 + ?

(1) 12 (2) 4

(3) 14 (4) 16

(5) 0

46. 15 × ? + 72 = 108 + 24

(1) 2 (2) 4

(3) 3 (4) 5

(5) 1

47. 12 × 14 + 70 = 7 ×?

(1) 36 (2) 34

(3) 32 (4) 28

(5) 30

48. 6 × 5 - 12 ÷ (3 × 4) + 48 = ?

(1) 79 (2) 77

(3) 75 (4) 73

(5) 81

49. 2 + 
1

2
 + 

2

3
 = 

?

6

(1) 21 (2) 17

(3) 15 (4) 19

(5) 23

50. 67 – 12 × 5 + ? = 10

(1) 3 (2) 5

(3) 17 (4) 12

(5) 7

51. A rFkk B ds vkSlr rFkk B rFkk C ds vkSlr ds chp varj 68

gSA A rFkk C ds chp varj Kkr djsaA
(1) 136 (2) 134

(3) 132 (4) 128

(5) 130
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QUANTITATIVE  APTITUDE

36. A working alone and B working alone can
complete same piece of work in 30 days and
18 days respectively. If B alone started the
same work and A replaced B after 6 days, then
find in how many days the work will be com-
pleted?

(1) 20 days (2) 18 days

(3) 24 days (4) 26 days

(5) 32 days

37. A boat travels 14 km in upstream in 40 min-
utes. If ratio of speed of boat in still water to
speed of stream is 6 : 1, then find distance
travelled by boat in 2 hours in downstream.

(1) 45.6 km (2) 43.2 km

(3) 58.8 km (4) 51.8 km

(5) 67.6 km

38. Sonali spent 25% of her monthly salary on
house rent and 30% of her monthly salary on
clothing. She gave 40% of her remaining
monthly salary to her mother. If her remain-
ing monthly salary is Rs.10800, then find her
monthly salary.

(1) Rs. 40000 (2) Rs. 35000

(3) Rs. 39000 (4) Rs. 45000

(5) Rs. 30000

39. A, B & C invested equal amount in a partner-
ship business. After 8 months, A completely
withdraws his investment, B doubled his in-
vestment and C withdraws 50% of his invest-
ment. If total profit at the end of the year is
Rs.8500, then find profit share of C.

(1) Rs. 2000 (2) Rs. 1500

(3) Rs. 1000 (4) Rs. 3000

(5) Rs. 2500

40. Perimeter of square is 16m more than pe-
rimeter of rectangle. If side of square is 8m
more than breadth of rectangle and ratio of
length to breadth of rectangle is 3 : 2, then
find length of rectangle.

(1) 15m (2) 24m

(3) 20m (4) 18m

(5) 16m

Directions (41-50): What should come in place
of question mark (?) in the following questions.

41.
78

39
 × 2 + 41 – 15 = ?

(1) 28 (2) 30

(3) 32 (4) 31

(5) 29

42. 15 ÷ 3 + 32 = 7 ×?

(1) 5 (2) 4

(3) 3 (4) 1

(5) 2

43. 41 + 520 – ? = 61

(1) 541 (2) 521

(3) 520 (4) 500

(5) 489

44. 14 × 3 – 60 + ? = 32

(1) 50 (2) 14

(3) 72 (4) 54

(5) 10

45. 13 + 51 ÷ 17 = 42 + ?

(1) 12 (2) 4

(3) 14 (4) 16

(5) 0

46. 15 × ? + 72 = 108 + 24

(1) 2 (2) 4

(3) 3 (4) 5

(5) 1

47. 12 × 14 + 70 = 7 ×?

(1) 36 (2) 34

(3) 32 (4) 28

(5) 30

48. 6 × 5 - 12 ÷ (3 × 4) + 48 = ?

(1) 79 (2) 77

(3) 75 (4) 73

(5) 81

49. 2 + 
1

2
 + 

2

3
 = 

?

6

(1) 21 (2) 17

(3) 15 (4) 19

(5) 23

50. 67 – 12 × 5 + ? = 10

(1) 3 (2) 5

(3) 17 (4) 12

(5) 7

51. The difference between average of a & b and
average of b & c is 68. Find the difference of a
and c ?

(1) 136 (2) 134

(3) 132 (4) 128

(5) 130
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52. ,d oxZ ds fod.kZ dh yackbZ 29 2  lseh gS rFkk bldk

ifjeki vk;r ds ifjeki ds leku gSA vk;r dh yackbZ rFkk
pkSM+kbZ ds chp varj 8 lseh- gS] rks vk;r dk {ks=kiQy Kkr djsaA

(a) 808 lseh2 (b) 817 lseh2

(c) 842 lseh2 (d) 825 lseh2

(e) 832 lseh2

53. nks oLrqvksa ds Ø;ewY; ds chp vuqikr 1 : 3 gSA igys oLrq
dks 20% ykHk ij cspk tkrk gS tcfd nwljs oLrq dks x% gkfu
ij cspk tkrk gSA iwjs ysu&nsu esa 17.5% dh gkfu] gksrh gSA
x dk eku Kkr djsaA
(1) 25% (2) 30%

(3) 5% (4) 15%

(5) 10%

54. 'kkar ty esa uko dh pky 21 fdeh@?kaVk gS tcfd ;g 10.8

fdeh /kjk dh foijhr fn'kk esa tkus esa 36 feuV dk le; ysrh
gSA /kjk dh fn'kk esa 36 fdeh- dh nwjh r; djus esa uko dks
fdruk le; yxsxk\ (?kaVs esa)
(1) 2 (2) 1

(3) 1.5 (4) 1.2

(5) buesa ls dksbZ ugha

55. jke ,d fuf'pr jkf'k 8% ok£"kd lkèkkj.k C;kt dh nj ij 5
o"kks± ds fy, fuos'k djrk gSA rc og mlds }kjk 5 o"kZ ds ckn
izkIr jkf'k dks ';ke dks 15% ok£"kd lkèkkj.k C;kt nj ij 2
o"kks± ds fy, mèkkj nsrk gSA ;fn ';ke 2100 jQi;s C;kt ds :i
esa jke dks nsrk gS] rks jke ds }kjk izkjaHk esa fuos'k dh xbZ jkf'k
Kkr djsaA

(1) 8000 jQi;s (2) Rs. 12000 jQi;s

(3) 15000 jQi;s (4) Rs. 5000 jQi;s

(5) 2000 jQi;s

funsZ'k (56-60) : fuEu js[kk vkjs[k dk è;kuiwoZd vè;;u djsa
rFkk fn, x, iz'uksa ds mÙkj nsaA

js[kk vkjs[k o"kZ 2010 esa 5 fofHkUu LVkjksa ds n~okjk csps x,
dSYdqysVjksa (A, B, C, D & E) dh la[;k dks n'kkZrk gSA

100

80

60

40

20

0

A B C D E

csps x, dSYdqysVjksa dh la[;k

56. ;fn o"kZ 2010 rFkk 2011 esa D ds }kjk csph xbZ vkSlr
dSYdqysVjksa dh la[;k 59 gS, rks o"kZ 2011 esa D ds }kjk csps
x, dSydqysVjksa dh la[;k D;k gS\
(1) 18 (2) 48

(3) 38 (4) 58

(5) 28

57. o"kZ 2010 esa A ds }kjk csps x, dSydqysVjksa dh la[;k o"kZ
2010 esa C ds }kjk csps x, dSydqysVjksa dh la[;k ls fdruk
izfr'kr de gS\

(1) 25% (2)
1

33 %
3

(c) 50% (d)
2

66 %
3

(e) buesa ls dksbZ ugha

58. o"kZ 2010 esa C, D rFkk E ds }kjk csps x, dSydqysVjksa dh
vkSlr la[;k Kkr djsaA
(1) 59 (2) 41

(3) 48 (4) 53

(5) 64

59. o"kZ 2010 esa A rFkk B ds }kjk csps x, dSydqysVjksa dh la[;k
o"kZ 2010 esa D ds }kjk csps x, dSYdqysVjksa dh la[;k ls
fdruk vf/d ;k de gS\
(1) 38 (2) 32

(3) 44 (4) 26

(5) 20

60. o"kZ 2010 esa A rFkk C ds }kjk csps x, dSYdqysVjksa dh la[;k
rFkk o"kZ 2010 esa D rFkk E ds }kjk csps x,] dSYdqysVjksa dh
la[;k ds chp vuqikr D;k gS\
(1) 3 : 5 (2) 10 : 9

(3) 9 : 13 (4) 1 : 1

(5) 11 : 7

61. A ,d dke dks 75 fnuksa esa iwjk dj ldrk gSA A dk;Z dks
izkjaHk djrk gS rFkk 36 fnuksa ds ckn A dk;Z dks NksM+ nsrk gS
,oa B 'ks"k dk;Z dks 26 fnuksa esa iwjk djrk gSA B vdsys ml
dk;Z dks fdruks fnuksa esa iwjk djsxk\

(1) buesa ls dksbZ ugha (2) 50

(3) 48 (4) 46

(5) 52

62. eukst ,d ;kstuk esa 10% ok£"kd pØo`f¼ C;kt nj ij 2
o"kks± ds fy, 100 jQi;s fuos'k djrk gSA ;fn 2 o"kks± ckn og
2 o"kks± ds izkIr mlh ;kstuk ls izkIr jkf'k ds vk/s dks iqu%
fuos'k djrk gSA ;kstuk ls izkIr dqy C;kt D;k gS\

(1) 477.95 jQi;s (2) 732.05 jQi;s

(3) 464.1 jQi;s (4) 210 jQi;s

(5) 337.05 jQi;s
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52. The length of a diagonal of a square is 29 2

cm and its perimeter is equal to perimeter of
the rectangle. The difference of length &
breadth of the rectangle is 8 cm. find area of
rectangle.

(a) 808 cm2 (b) 817 cm2

(c) 842 cm2 (d) 825 cm2

(e) 832 cm2

53. The cost price of two articles is in ratio 1 : 3.
First article is sold at 20% profit while other
is sold at x% loss. On overall transaction, a
loss of 17.5% is incurred. Find value of x.

(1) 25% (2) 30%

(3) 5% (4) 15%

(5) 10%

54. The speed of boat in still water is 21 kmph
while it takes 36 minutes to cover a distance
of 10.8 km in upstream. Find time taken by
boat to cover a distance of 36 km in down-
stream. (in hours)

(1) 2 (2) 1

(3) 1.5 (4) 1.2

(5) None of these

55. Ram invested certain amount of money for 5
years at 8% p.a. at simple interest. He then
lent the amount received by him after 5 years
to Shyam at 15% p.a. at simple interest for 2
years. If Shyam paid Rs. 2100 as interest to
Ram, then find the amount invested by Ram
initially.

(1) Rs. 8000 (2) Rs. 12000

(3) Rs. 15000 (4) Rs. 5000

(5) Rs. 2000

Directions (56-60): Study the line chart given
below and answer the following questions.

Line chart shows the number of calculators sold
by 5 different stores (A, B, C, D & E) in 2010.

100

80

60

40

20

0

A B C D E

No. of calculators sold

56. If average number of calculators sold by D in
2010 & 2011 is 59, then find the number of
calculators sold by D in 2011.

(1) 18 (2) 48

(3) 38 (4) 58

(5) 28

57. Calculators sold by A in 2010 are what per-
cent less than calculators sold by C in 2010?

(1) 25% (2)
1

33 %
3

(c) 50% (d)
2

66 %
3

(e) None of the above

58. Find average number of calculators sold by
C, D & E in 2010.

(1) 59 (2) 41

(3) 48 (4) 53

(5) 64

59. Calculators sold by A & B together in 2010
are how much more or less than calculators
sold by D in 2010 ?

(1) 38 (2) 32

(3) 44 (4) 26

(5) 20

60. Find ratio of calculators sold by A & C together
in 2010 to calculators sold by D & E together
in 2010.

(1) 3 : 5 (2) 10 : 9

(3) 9 : 13 (4) 1 : 1

(5) 11 : 7

61. A work can be completed by A alone in 75 days.
A started the work and left after 36 days after
which B completed the remaining work in 26
days. In how many days can B alone finish
the work?

(1) None of these (2) 50

(3) 48 (4) 46

(5) 52

62. Manoj invested a sum of Rs 1000 in a scheme
for 2 years at 10% p.a. compound interest. If
after 2 years, he reinvested half of the
amount received in same scheme for two
years. Find total interest obtained from the
scheme.

(1) Rs. 477.95

(2) Rs. 732.05

(3) Rs. 464.1

(4) Rs. 210

(5) Rs. 337.05
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63. 5 o"kZ iwoZ ekrk rFkk firk dh vkSlr vk;q 37 o"kZ FkhA orZeku
esa firk] ekrk rFkk cPps dh vkSlr vk;q 35 o"kZ gSA cPps dh
vk;q Kkr djsaA
(1) 21 (2) 25

(3) 17 (4) 23

(5) 19

64. uy A rFkk B Hkjus okyk uy gS rFkk uy C [kkyh djus okyk

uy gSA uy C rsth ls 
1

33 %
3

 {kerk ds fy, tksM+k tkrk

gSA uy B, uy A ls 50% vf/d nsrk gSA rFkk uy C, uy  A

ls 100% vfèkd ----- gSA ;fn lHkh uyksa dks ,d lkFk [kksyk
tk,] rks [kkyh Vadh dks Hkjus esa rhuksa uyksa dks fdruk le;
yxsxk\

(1) 8 ?kaVs 12 feuV

(2) 7 ?kaVs 50 feuV

(3) 9 ?kaVs 30 feuV

(4) 8 ?kaVs 48 feuV

(5) 7 ?kaVs 36 feuV

65. ,d Bksl csyukdkj f[kykSuk dk v/Zxksykdkj vkèkkj gSA csyukdkj
Hkkx ds m¡QpkbZ rFkk f=kT;k ds chp vuqikr 3 : 2 gS rFkk
csyukdkj Hkkx dh f=kT;k rFkk vèkZxksykdkj Hkkx ds f=kT;k
cjkcj gSA ;fn f[kykSus dh mQ¡pkbZ 35 lseh gS] rks f[kykSus dk
yxHkx vk;ru Kkr djsaA

(1) 18685 lseh3 (2) 18665 lseh3

(3) 18655 lseh3 (4) 18675 lseh3

(5) 18695 lseh3

funsZ'k (66-70) : uhps nh xbZ J̀a[kyk esa iz'u fpÞu (?) ds LFkku
ij D;k gksxk\
66. 44,  60,  80,  105,  136,  ?

(1) 152 (2) 164

(3) 160 (4) 174

(5) 178

67. 10,  40,  140,  420,  1050,  ?

(1) 2100 (2) 1400

(3) 1600 (4) 1900

(5) 2300

68. 32,  39,  34,  41,  ?,  43

(1) 38 (2) 39

(3) 37 (4) 40

(5) 36

69. 1,  5,  14,  30,  55,  ?

(1) 85 (2) 78

(3) 63 (4) 91

(5) 97

70. 5,  6,  13,  40,  161,  ?

(1) 806 (2) 508

(3) 624 (4) 756

(5) 842
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63. Average age of father & mother 5 years ago
was 37 years. At present the average age of
father, mother & child is 35 years. Find
present age of child. (in years)

(1) 21 (2) 25

(3) 17 (4) 23

(5) 19

64. Pipe – A & B are inlet pipes and pipe – C is an

outlet pipe. Pipe – C is connected at 
1

33 %
3

capacity of the tank. Pipe – B is 50% more
efficient than pipe – A and pipe – C is 100%
more efficient than pipe – A. If all the pipes
are opened simultaneously, then find the
time taken by all 3 pipes to fill the empty tank.

(1) 8 hours 12 minutes

(2) 7 hours 50 minutes

(3) 9 hours 30 minutes

(4) 8 hours 48 minutes

(5) 7 hours 36 minutes

65. A solid cylindrical toy has hemispherical
base. Ratio of height of cylindrical part to ra-
dius of cylindrical part is 3 : 2 and radius of
cylindrical part and hemispherical part of the
toy is equal. If height of the toy is 35 cm, then
find approximate volume of the toy.

(1) 18685 cm3 (2) 18665 cm3

(3) 18655 cm3 (4) 18675 cm3

(5) 18695 cm3

Directions (66-70): Find the missing number in
the following number series.

66. 44,  60,  80,  105,  136,  ?

(1) 152 (2) 164

(3) 160 (4) 174

(5) 178

67. 10,  40,  140,  420,  1050,  ?

(1) 2100 (2) 1400

(3) 1600 (4) 1900

(5) 2300

68. 32,  39,  34,  41,  ?,  43

(1) 38 (2) 39

(3) 37 (4) 40

(5) 36

69. 1,  5,  14,  30,  55,  ?

(1) 85 (2) 78

(3) 63 (4) 91

(5) 97

70. 5,  6,  13,  40,  161,  ?

(1) 806 (2) 508

(3) 624 (4) 756

(5) 842
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ENGLISH LANGUAGE & COMPREHENSION

Direction (71-80) : Read the following passage
carefully and answer the questions given below
it. Certain words are given in bold to help you
locate them while answering some of the
questions.
Financial Inclusion (FI) is an emerging priority
for banks that have nowhere else to go to achieve
business growth. The viability of FI business is
under question, because while banks and their
delivery partners continue to make investments,
they haven't seen commensurate returns. In
markets like India, most programmes are
focused on customer on-boarding, an expensive
process which people often find difficult to afford,
involving issuance of smart cards to the
customers. However, large-scale customer
acquisition hasn't translated into large-scale
business, with many accounts lying dormant and
therefore yielding no return on the bank's
investment. For the same reason, Business
Correspondent Agents, who constitute the
primary channel for financial inclusion, are
unable to pursue their activity as a full-time job.
One major reason for this state of events is that
the customer on-boarding process is often
delayed after the submission of documents
(required to validate the details of the concerned
applicant) by the applicant and might take as long
as two weeks. By this time the initial enthusiasm
of applicants fades away. Moreover, the delivery
partners don't have the knowledge and skill to
propose anything other than the most basic
financial products to the customer and hence do
not serve their banks' goal of expanding the
offering in unbanked markets.
Contrary to popular perception, the inclusion
segment is not a singular impoverished,
undifferentiated mass and it is important to
navigate its diversity to identify the right target
customers for various programmes. Rural
markets do hav? their share of rich people who
do not use banking services simply because they
are inconvenient to access or have low perceived
value. At the same time, urban markets, despite
a high branch density, have multitude of low
wage earners outside the Financial net.
Moreover, the branch timings of banks rarely
coincide with the off-work hours of the labour
class.
Creating affordability is crucial in tapping the
unbanked market. No doubt pricing is a tool, but
banks also need to be innovative in right-sizing
their proposition to convince customers that they
can derive big value even from small amounts.

One way of doing this is to show the target
audience that a bank account is actually a
lifestyle enabler, a convenient and safe means
to send money to family or make a variety of
purchases. Once banks succeed in hooking
customers with this value proposition they must
sustain their interest by introducing a simple
and intuitive user application, ubiquitous access
over mobile and other touch points, and adopting
a banking mechanism which is not only secure
but also reassuring to the customer. Technology
is the most important element of financial
inclusion strategy and an enabler of all Others.
The choice of technology is therefore a crucial
decision, which could make or mar the agenda.
Of the various selection criteria, cost is perhaps
the most important. This certainly does not mean
buying the cheapest package, but rather choosing
that solution which by scaling transactions to
huge volumes reduces per unit operating cost.
An optimal mix of these strategies would no doubt
offer an innovative means of expansion in the
unbanked market.
71. Which of the following facts is true as per

the passage?
(1) People from rural areas have high

perceived value of banking services.
(2) Cost is not a valid criterion for

technological package selection for
financial-inclusion initiatives.

(3) The inclusion segment is a singular
impoverished, undifferentiated mass.

(4) The branch timings of banks generally
do not coincide with the off-work hours
of the labour class in urban markets.

(5) All the given statements are true
72. According to the passage, for which of the

following reasons do the delivery partners
fail to serve their bank's goal to expand in
the unbanked markets?
(A) They do not have adequate client base

to sell their financial products.
(B) They do not have adequate knowledge

and skills to explain anything beyond
basic financial products to the
customers.

(C) They do not have the skills to operate
advanced technological aids that are a
prerequisite to tap the unbanked
market.

(1) Only (B) (2) Only (C)
(3) All (A), (B) & (C) (4) Only (A)
(5) Both (B) and (C)
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73. According to the passage, for which of the
following reasons is the viability of
financial inclusion under question ?
(1) Banks always prefer the cheapest

package (to cut cost) while making a
choice of technology to be used

(2) The Business Correspondent Agents
are highly demotivated to pursue their
activity as a full-time job.

(3) The investments made by banks are
their delivery partners are not yielding
equal amounts of returns.

(4) Banks do not have adequate number of
delivery partners required to tap the
unbanked market.

(5) Banks do not have adequate manpower
to explore the diversity of the unbanked
market and thereby identify the right
target customers for various programs.

74. In the passage, the author has specified
which of the following characteristics of the
customer on-boarding process ?
(1) It involves collection of documents from

the applicants in order to validate their
details.

(2) It involves issuance of smart cards to
the customers.

(3) It suffers from latency as it takes a long
time after submission of documents by
the customer.

(4) It is an expensive process which people
find difficult to afford.

(5) All of the given characteristics have
been specified

75. What did the author try to highlight in the
passage ?
(A) The ailing condition of financial

inclusion business at present
(B) Strategies that may help banks expand

in the unbanked market
(C) Role of government in modifying the

existing financial-inclusion policies
(1) Both (A) and (B)
(2) All (A), (B) and (C)
(3) Only (C)
(4) Only (A)
(5) Only (B)

76. According to the passage, which of the
following ways may help banks sustain the
interest of their customers after hooking
them ?
(A) Adoption of a banking mechanism

which not only secure but reassuring
to the customers

(B) Increasing the number of delivery
partners in rural market

(C) Introduction of a simple and intuitive
user application

(1) Only (A) (2) Only (C)
(3) Only (B) (4) All (A), (B) and (C)
(5) Both (A) and (C)

Direction (77-78) :  Choose the word or group of
words which is MOST SIMILAR in meaning to
the word printed in bold as used in the passage.
77. Multitude

(1) Impoverished (2) Handful
(3) Acknowledged (4) Plenty
(5) Solitude

78. Ubiquitous
(1) Quintessential (2) Popular
(3) Omnipresent (4) Simplified
(5) Abnormal

Direction (79-80): Choose the word which is
MOST OPPOSITE in meaning of the word
printed in bold as used in the passage.
79. Dormant

(1) Emaciated (2) Pertinent
(3) Cornered (4) Rejected
(5) Active

80. Delayed
(1) Perturbed (2) Popularised
(3) Expedited (4) Stabilised
(5) Repressed

Direction (81-85): Read each sentence to find
out whether there is any grammatical or
idiomatic error in it. The error, if any, will be
in one part of the sentence. The number of that
part is the answer. If there is no error, the
answer is (5) i.e. No Error. (Ignore the errors of
punctuation, if any)
81. (1) While GST is supposed to promote ease of

doing business / (2) the draft model law
recommends a registration / (3) and tax
returns structure which, it is feared, / (4)
will increase cost of compliance. / (5) No error

82. (1) Crystal-shape salt formation, cobalt blue
waters / (2) and modern mineral spas along
the Dead sea shores / (3) creates a perfect
combination to / (4) rejuvenate the body and
refresh the mind. / (5) No error

83. (1) For a low-profile Indian to dream of
setting up / (2) a steel plant in pre-
independence India, at times / (3) when
colonial rulers considered even private
production of lowly salt / (4) an act of treason,
required audacity of a very high order. / (5)
No error

84. (1) The township, spread over 100 sq km, is
remarkably / (2) well-run by Indian
standards, / (3) with broad avenues, green
parks, reliable power–/ (4) and water so
fresh you can drink straight of the tap. / (5)
No error

85. (1) The new mobile app Yatra Mini, features
only / (2) the relevant product lines – bus,
train, and budget hotels – to appeal to / (3)
customers who have limitations of phone
memory space / (4) and wants to keep data
usage to the minimum. / (5) No error
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Direction (76–80) : Rearrange the following
seven sentences (A), (B), (C), (D), (E), (F) and (G)
in the proper sequence to form a meaningful
paragraph and then answer the questions given
below.

(A) "But there is a difference," replied the
crane.

(B) It was always the peacock's turn to laugh
at the crane.

(C) Should it be said, then, that it is far better
to be famous in poor clothes rather than
die unknown in the midst of wealth ?

(D) "While I can fly in the sky and sing to the
stars and moon, you simply drag yourself
along the ground."

(E) You have nothing beautiful, whatsoever, on
your body."

(F) "Look at my golden and purple plumage.
(G) "Yours is a very dull plumage," the pacock

would often say to the crane showing him
his own.

86. Which of the following sentences will come
FIRST after rearrangement ?
(1) A (2) B
(3) C (4) D
(5) E

87. Which of the following sentences will come
SECOND after rearrangement ?
(1) F (2) G
(3) A (4) B
(5) C

88. Which of the following sentences will come
THIRD after rearrangement ?
(1) D (2) E
(3) F (4) A
(5) B

89. Which of the following sentences will come
FOURTH after rearrangement ?
(1) E (2) A
(3) B (4) C
(5) D

90. Which of the following sentences will come
LAST (SEVENTH) after rearrangement ?
(1) B (2) F
(3) E (4) D
(5) C

Direction (91–100) : In the following passage
there are blanks, each of which has been
numbered. These numbers are printed below
the passage and against each, five words are
suggested, one of which best fits the blank
appropriately. Find out the appropriate word
in each case.
Something in us constantly urges us to seek.
This seeking, according to sages, is a reflection
of our need for lasting peace and happiness.
Ramana Maharshi termed this seeking as a
natural (91) within our hearts to be established
in a state of permanent peace. He likened this

to the natural process whereby birds return to
their nests after their travels. However, because
of the latent impressions our minds carry over
many years and through force of habit, we seek
this peace by (92) various external efforts.

All these efforts prove transient and short
as extroversion of the mind only (93) a never-
ending chain of further pursuits. Bhagvan
Ramana therefore advocated turning the mind
(94), by investigating and seeking the  source of
everything. This, the sage said, was the shortest
and surest (95) of reaching the primordial 'I'
consciousness or the divine (96). which is all-
encompassing and inclusive. While admitting the
(97) of all other techniques, Ramana was
uncompromising on the need to (98) search
within so as to dissolve the sense of ego or
individual doership. Ramakrishna Paramahansa
taught the same truth (99) the path of bhakti,
unconditional love and surrender to the Supreme.

Socrates stated: "I know that I know
nothing." Therefore, we need to 'just be' rather
than mentally (100) with 'doing'. Bhagvan
Ramana said that the concept of doership is akin
to a traveller in a train carrying the suitcase on
his head with the notion that this would lessen
the burden on the train.
91. (1) yearning (2) thirst

(3) attraction (4) repulsion
(5) necessity

92. (1) following (2) hunting
(3) pursuing (4) taking
(5) seeking

93. (1) shoots (2) hinders
(3) keeps (4) arrests
(5) propels

94. (1) public (2) secret
(3) interior (4) inwards
(5) outgoing

95. (1) plan (2) modus
(3) way (4) measures
(5) usage

96. (1) aptitude (2) power
(3) efficacy (4) inability
(5) weakness

97. (1) relevance (2) materiality
(3) reference (4) weight
(5) potency

98. (1) basically (2) someday
(3) conclude (4) lately
(5) ultimately

99. (1) before (2) in
(3) over (4) through
(5) beyond

100. (1) clash (2) struggle
(3) combat (4) trial
(5) contests


